1-6 Function Operations and Composition of Functions

o
=]

Find f +g9)(x), § —9)X), - 9)(x), and [f J (x) for eachf (x) and g(x). State the domain of each new function.
2.f(x)=8-x°

g(x)=x-3

ANSWER:

( +g)(x)=—x3+x+5; D=(=,»), —g)(x)=—x3—x+11; D=(=,=),( -g)(x)=—x4+3x3+8x—24; D=(=,»), £ ‘{.‘_}_x—_r;' ,

\ &) x=3

D=(-,3)u(3,2)

4f(x)=x-9
g(x) =x+5

ANSWER:

X+

f+a9)x)=2x—4;D=(=,=);f —9)xX)=-14,D=(—=,=); F - 9)(x) :x2—4x—45; D=(=,=), : \|{.ﬂ— -1:_?; D =(-o,-5)w(-5,=)
LVE ) .

6.f(x)=x-7
9 =x+7

ANSWER:

L

€ +09)()=26D=(-»,2); f ~)x) =—14;D = (~= ,»); f - )() =X’ ~ 49; D = (- = ); k: (%)= 'T“;: D = (—e0,~Tyw (-7.%)

X
8.f(x) =
(x) 7
3
g(x) =
X
ANSWER:

2 2 3 A 2
f+9)0= X 12 D= (0.0)U0.0); f -~ )= X125 D= (0. 0)U(O0.2); f - 9K = -5 D=(-2.0)UO2); | L |(x)= =
[ = (—eo, 0y (0, 0)
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10.f(x) = °
X
g(x) =x*
ANSWER:
34 34 3 (£ 3
F+0)x)= = +x": D=(-0,0)u(0.2); f — g)(x) = = —x* D=(-,0)u(0.m); f - g)(x) =3x"; D=(—m,0)u(0.2); | = |(x)=—":
X X LVE S X
[ = (—eo, 0y (0, 0)
12.f(x) = Jx+6
g(x) = Vx—4
ANSWER:
f+9)(X)= Vx+6 +Jx—4:D=[4 =), f-g)()= V¥+6 —Vx—4;D=[4, «); - 9)(x) = #xz +2x —24,D=[4, =),
Foas [ +20—24
L =222 po 4, )

E) A=

For each pair of functions, find [f 0 g](x), [g of](x), and [f 0 g](6).

16.f(x) = —2x° — 5x + 1
g(x)=-5x+6

ANSWER:
F 0 g](x) = —50x? + 145x — 101; [g of ](x) = 10x> + 25x + L; [ 0 g](6) = —1031

18.f(x) =x* — 16
g(x) = X2+ Tx + 11
ANSWER:
F 0g](x) =x"+14x> + 70x° + 154x + 105; [g of J(x) = X — 25x* + 155; [f 0 g](6) = 7905
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20.f(x) = 2 + x*
2
g(x) =—x
ANSWER:

Fog](x)=2+x%[gof](x) = —x® — 4x* — 4; [ 0g](6) = 1,679,618

Findf og.
2
22.f(x) = :

x—23

g(x) = x2 +6
ANSWER:

-

[f-glx)= -

2
X +2

24.F(x) =x>-9
g(x) = vx+3
ANSWER:
[f=glx)=x-6forx>-3

26.f(x) = —%
g(x)= +x+8
ANSWER:
[f = gllx)= NI x> 8
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28.f(x) = WJx-2
g(x) = x2 +8
ANSWER:

[f - glx)=Va? +6
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